THNTEEEREBERRERFIRF (BEESRERDELSRFTE)FETESE)

% A (B FH)
&= = FHEE FHIERE FHIERER & ]

1 ZEIA 188,148 A 8973 179,175
@Eﬁﬁﬁgﬁﬁﬁm I A 10,081 A 2,221 7,860
HRER =5 RN A 4,861 A 4,860
fﬁ'ﬁ'ﬂ%ﬁﬁ%g? FERENILA 158,398 A 5,048 153,350
O REmA o Al 378
—HEHEEFINA 9,481 A 1,640 7,841
FrEEEREM U A 61 A 61 0
Z DB EIRA 4,892 A 4,891
2 FERAMRUFHH 570 0 570
3 BA® 8,325 1,865 10,190
4 fEHE 0 0 0
5 FEIRA 151 A2 149
HERF 1 A 0
¥ 0OA 150 A 149
w A8 197,194 A 7,110 190,084




% (B FH)
# =] FHEE fHIEEE FHIERER B B
1 BBE 54,472 A 215 54,257
—EHE 54,358 A 215 54,143
EAaaEE 114 0 114
2 EXE 43,099 A 6,835 36,264
E@@%E 833 0 833
Eﬁfﬁ%ﬁ e 104 0 104
E%i o 40,542 A 6,542 34,000
EXFEE 1,620 A 293 1,327
3 NMEE 2,038 A 60 1,978
4 FiwE 0 0 0
5 MIFERERRAE 97,585 0 97,585
A 197,194 A 7110 190,084
S EEEELREREE | AR | mmE £ 3] B =
HERTEHE 190,084 190,084 0




